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= (62%y + 3y°)dx + (223 + 9xy?)dy

d
dz = (423y + 2zy?)dx + (2* + 222y — 3y?)dy
dz = (32%y — y®)dx + (23 — 3zy?)dy

d

z = 2z dz — J dy

(5) dz = 2e® cos ydx — €2* sin ydy

(6) dz = sinydx + {siny + (z + y) cosy }dy
(D) Nlz+2y—2=16

(2) x—3y—2=0

(3) Ta +4y — 2z =2

(1) 2z = (223 + 3ay?) o= 2(2) y + 3(2)'y?
= 622y + 3y3
= (223y + 3zy®),= 223(y)’ + 3(y3)’
= 223 4 9xy?
dz = zpdx 4 2,dy TRAL T
dz = (622y + 3y3)dz + (223 + 9zy?)dy
(2) 2z = (z'y + 2%y — ) = (aV)'y + (2%)'y°
= 423y + 221>
zy = (2ty + 2%y — ¢%),
=2*(y) +2%(y*) — (v°)
= 2% 4 222y — 3y?
dz = zpdz + 2,dy WIRALT
dz = (423y + 2xy?)dx + (2* + 222y — 3y?)dy
(3) zo = {(a® + 2y)(zy —y*)}a
= (2* + ay)o(zy — %) + (2* + 2y) (2y — ¥*)a
= (22 +y)(zy —y?) +y(a® +ay) = 32’y —y°
zy = {(&® + zy)(zy — v°)}y
= (2® +ay)y(zy — %) + (2 + 2y) (2y — y?)y
= z(zy —y°) + (a® +2y)(z - 2y) = 2° — 3zy”
dz = zdx + z,dy WICKRALT
dz = (32%y — y®)dx + (23 — 3zy?)dy

(4) 2 = (2% —?) 5 (227 — ),
_ 4z _ 2x
B 2¢/222 — 32 B V222 — g2
2=+ (20— ) (207 — ),
_ —2y _ y
2R Ero

dz = zpdx + z,dy ITARA LT

2x Y
dz = dr — d
V212 — 42 V212 — o2 Y
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2z = (2% cosy), = (€2) cosy = €2*(2x)' cosy
= 2e?* cosy

zy = (€2® cos y),= e**(cosy) = —e*Tsiny

dz = zpdx + z,dy ITARALT

dz = 2€%* cos ydx — 2* sin ydy

2o = {(z +y)siny},

= (z 4+ y)asiny + (z +y)(siny), =siny
zy ={(z +y)siny}y

= (z +y)ysiny + (z +y)(siny),

=siny + (z + y) cosy

dz = zpdx + z,dy ITARALT

dz = sinydz + {siny + (z + y) cosy }dy

2p = (23 — 2y +2y?), =322 —y
zy = (2% — 2y +2y%),= -z + 4y
r=2,y=10D % 2, =11=f,
2y =2=fy(2,1), ¥/ 2=8=f
= f(2.1) = fa(2,1)(z—2) + [,
WKRALTz-8=11(x—2) +
—1lz -2y + 2= —16
bbb 1z +2y— 2 =16
= {cos(z — 3y) }(z — 3y).= cos(x — 3y)
zy = {cos(xz — 2y) }(x — 3y),= —3 cos(z — 3y)
r=3,y=1DC &z, =1= f,(3,1)
zy=—3=fy(3,1), £z 2=0= f(3,1)

S FB) = LB D@ - 3)+ fG -1
WHRALTz-0=(x-3)-3(@y—1) &b
—z4+3y+2=0
Thbbr—3y—z2=0

= (323 + 2%y + y3), = 92% + 2y

= (32° + 2%y + ¢°), = 2% + 3y
r=1,y=-1DL & 2, =7= f,(1,-1)
zy=4=f,(1,-1), e z=1= f(1,-1)

(L)

(L =1 = 1)+ £ (L —1){y — (—1)}
WHRALTz-1=7(z—-1)+4@y+1) &b
—Tr—4dy+z=-2

TROL Tx+4y —2=2
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(2,1)
fy(2,1)(y — )
2y—-1) &





